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GRAMMATICAL ACCURACY

Look at the following groups of sentences, all taken from your work. They have been sorted according to error type. Identify the error in each group and correct each sentence. After you have identified the mistakes and corrected them decide what is the underlying problem for each mistake. Please note that sometimes there is more than one mistake in each sentence. Please note there may be more than one way of correcting the mistakes
 1. Error type ……………colligation……………………..

a. enabling Africa to produce enough food to provide for her own food security

b. taking advantage of technology 

c. Kofi Annan’s speech showed his strong involvement in the African cause

d. All of them agreed on the need for collaboration between governments, NGOs and the private sector, too.

e. Where an expert panel discussed the topic of food security and put forward fresh solutions to this problem

f. Instead it should serve as a means to helping them work more efficiently and to ensuring them access and entitlement to food.

g. In order to ensure farmers get the right seeds and use  efficient fertilizers and build an adequate irrigation system

h. The panel was composed of Kofi Anan…..

i. Cooperation between countries is the first step in/to winning the battle

j. The AGRA project receives many grants, and there are investments in science and technology

k. In fact, by providing their rural sectors with enormous subsidies, they distort competition and depress the opportunities of the farmers in poor countries.

l. The incapability of  governments, rebels, and local NGOs to cope with the problems contributes to demonstrating that […] the result will be negative.

m. The means by which to ensure them is in/by judging all the soldiers, military officers and heads of rebel groups

n. The city’s high pollution level that exceeds the WHO’s limit by 87%

o. For these reasons, it is useful to analyze what the effects of the economic expansion have been on China as a whole.

p. About 34% of Chinese children suffer forfrom lead poisoning.

q. They did not see any reason to carry out this plan

r. After describing the entire economic boom in China, a question may be asked:

s. Also, it could reverse the good attitude of the government itself, that will feel it is being punished instead of rewarded…

2. Error type ……………wrong word + collocation………………….

a. The root of the problem lies in the distorted distribution of agricultural products

b. Last year and 2005 marked a drastic break in the positive trend in reducing the world’s hunger

c. […], although he failed to face the most important factor, namely, the organization of world economy.

d. The challenges that we will face in near future are great:

e. Some steps against the mass-starvation were taken, some progress was also made in this fight

f. Josette Sheeran stated the urgency of the problem by reporting the alarming figure of how many people are left hungry today in the world

g. Several personalities took part in the debate 

h. Civil society groups have been trying for a long time to change the situation

i. A third argument I would like to develop in favour of my thesis regards the lack of respect for the environment.

j. The Chinese economic boom, although probably moved by the prospect of an improvement ofin the life conditions of the whole population

k. In the last decade the world has been greatly transformed by the unstoppable economic boom in China.

l. […] if he only ekes out a living working more and more every day without a contract or any insurance against injuries
m. These worryingly high blood-lead levels are caused by the local factories which follow rudimentary safety procedures…

n. There is no doubt that this abhorrent/detestable practice continues basically because no effective punitive action has been taken against the recruiters when violating international law.

o. The US is using its economic power to exert/put/place some effective pressure on the governments that are still using or tolerating child soldiers.

p. These last measures raise the doubt if the US government really bases its financing upon the good faith of the governments to tackle the issue of the use of child soldiers

q. The writer will try to determine the type of response required to deal with this difficult situation

r. There are children with a level of lead in the blood five time higher compared with the level established as dangerous from the WHO

s. These are the reasons why many international observers called for serious counter measures

3. Error type ………agreement/number…….

a. Kofi Annan’s analysis provides a two-level solution

b. Bill Gates and Michael Treschow say that resarch on new technologies are very important

c. That means that much has been done but more has to be done.

d.  child mortality almost halved in the same period.

e. Another important problem caused by the economic boom has been the increase in pollution and environmental damage.

f. One of the major problems in China’s current development is environmental pollution and consequently the ill-health of its population.

g. I will argue that the progress hit only a portion of the Chinese population

h. Despite the fact that China is now one of the biggest economies in the world, looking at the situation of countryside

i. For these reasons, this economic model would enter a serious crisis if government started to take into consideration…

j. The signing of the Optional Protocol by as many states as possible remains a very central issue in the context of the international struggle against the exploitation of child soldiers.

4. Error type ………word order …………….

a. Likewise, he states the need for a deeper commitment from African governments
b. The topic was on how to act to fight these outcomes, and what the right answers to solve this problem are.

c. As in recent years, in January 2009 the Annual World Economic Forum Meeting in Davos was held
d. Before seeing what the solution suggested in this meeting are, let’s ask ourselves what food security is.

e. Abhisit Vejjujivai’s position is interesting: he points the finger at the developing countries

f. Only after understanding the real cause of this problem, is it possible to have a conscious and fresh debate

g. Only through the financial support of the national government as well as of the developed countries, will the farmers have access to the basic resources, the capital and the knowledge which are fundamental to developing this field.

h. The Business sector, governments, and NGOs should find a solution together
i. There is the need to figure out “where we can provide help to self help”

j. The increasing number of motor vehicles are putting the wellbeing of the Chinese city-dwellers at risk
k. If in Europe and in America the modernization process has involved the different social groupsgraudally, giving them time to get used to the new situation; in China, the change has come suddenly
l. The steps forward made with the Optional Protocol, thus, are the clarification of who a child soldier is, including volunteers that join the ranks under 16 years of age.

m. Also the health reform has introduced changes that (OR negatively) affect the rural population negatively.

5. Error type …………….word formation…………….

a. The very root of the problem is  insequality at global level

b. If stoping the use of child soldiers is left to the discretion of the single states or rebel groups, the effect will be a standstill.

c. Nevertheless, it cannot be the only response to such a widespread phenomenon

d. […] has led to enormous changes in Chinese society and in the living conditions of the Chinese people

e.  clear proof of this is the average yearly increase in the GDP

f. Also the access to education and life-expectancy has increased

g. The central government has planned to flatten the whole area of the village

h. The weak and the helpless are sacrificed for the national glory

i. Enable to monitor the situation in many countries where child soldiers were, and are, a normal thing.

j. Strongly bound to the economic aspects are the social ones…

6. Error type ………links.……….

a. the private sector, international agencies such as FAO, WFP and IFAD

b. This essay aims to show that, although the wild economic development has also had notable drawbacks, the economic boom significantly contributed to the improvements in the living standards of Chinese people.

c. Migrant workers are usually employed in risky activities, with no social and medical coverage, and often they are paid late, moreoever they often do not receive any payment at all.

d. In addition, the rate of poverty reduction has gone down in the last decade, even though the economic growth still carries on

e. In this paper I will analyse whether the prodigious economic boom in China has really brought improvement in the living conditions and opportunities for the whole population

f. In fact, ??? in the case of the creation of an active justice mechanism, which ensures punishment for those responsible for recruiting children in hostilities, the international community can bring an end to impunity 

g. Only recently, have there have been the first declarations of individual criminal responsibility for those who recruit child soldiers.

h. As pointed out in the 2008 Child Soldier Global Report, the numbers have decreased, but this result is the effect of the end of several long-ending conflicts in sub-Saharan Africa.

i. Unless the international community is able to punish those organizations and governments that persistently have access to the recruitment of children…

7. Error type ………….articles /determiners……………..

a. One practical example of the benefits that cooperation brings about, is that portrayed by M T..

b. Davos – one session of the Annual World Economic Forum deals with a topic very much discussed today.

c. Most of the entire speech was dedicated to the protagonists of the crisis, namely the farmers, because they represent  70% of the poor. 
d. Kofi Annan underlined the fact that in particular African farmers do not receive good and resistant seeds.
e. The international community has recognized the phenomenon of the use of child soldiers in armed conflict and it seems to have fully grasped its features, aspects and implications.
f. People may migrate in search of fortune but what most of these migrant workers found was an overwhelming combination of loneliness and exploitation.
g. In the last few years, Chinese leaders have begun to get worried….
h. Just between 1990 and 2005 the people living on a dollar per day went down by 391 million, according to the World Bank.  This massive reduction in poverty has made the number of people living in indigent conditions fall to around  3% of the population.
i. Shou Xiang said/stated that there is not one person in the village without lead poisoning and his own son was hospitalized with a level of 488 micrograms per liter of blood and with black and blue fingers/his fingers black and blue.
j. Nonetheless, some fundamental steps have already been taken in the direction of punishing those who recruit and exploit children in armed conflict.
k. The purpose of this essay is to examine whether punitive action by the international community would be a good solution against/to the use of child soldiers…
l. Finally, another noteworthy instrument is the Paris Principles whose priorities, according to UNICEF, include the prevention of recruitment, release and demobilisation …
m. And now attention is turned to China..
8. Error type …………multiple!!!………….

a. The problem can be solved only if governments, business, and NGOs commit themselves to working together, and to promote cooperation

b. It is necessary to focus the attention of developing countries on the prospect of a Green Revolution to move from an input-intensive to a knowledge intensive agricultural model.

c. Concerted, multilateral and external action is certainly necessary and punishment is a useful instrument in fighting the use of children in armed conflict.

d. Since the Chinese economy is a mixture of capitalism and socialism and the government still plays a key role in the economic field, the boom of the last few decades has  n ot only been sustained but also completely planned by the Party.

9. Error type …………..miscellaneous…………………

a. As we know, the problem of nutrition has always been a topical issue in international affairs.

b. Nowadays China counts a very high number of persons under the poverty threshold, and it shows a strong difference in wealth distribution, as well as a lack of democratic freedoms for its citizens.

c. The People’s Republic of China is the second largest economy in the world after the US and one of the fastest-growing countries

d. This two-speed China is nolonger sustainable and Beijing decided to build new cities

e. According to the Coalition, to stop the abuse of child soldiers, an estimated 250,000 children are fighting each day in the ranks of government forces.Lacks logic
f. Many children that decide to be involved in an armed conflict are orphans.

g. Moreover, the appearance of strong disease severely damages economic growth

